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1) For the rectifier circuit below, find the peak-to-peak ripple and the average of the output voltage
for a load current of 400 mA. (C=1000uF) J
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(Recommended time period for this question is 10 minutes.)
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2) Find the operating points of the transistors given below. Assume silicon BJTs with g = 200.

(Recommended time period for this question is 10 minutes.)
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3) Find the value of R in the amplifier circuit below such that the silicon PNP BJT has 1.5 mA

collector current. Find its voltage gain, input resistance and output resistance. (B=300)
(Recommended time period for this question is 30) minutes.)
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